Subject: Re: thick = 2 and postscript output
Posted by Craig Markwardt on Thu, 31 May 2001 18:21:25 GMT

View Forum Message <> Reply to Message

davidf@dfanning.com (David Fanning) writes:

Oh, I think it is working. It is just that a line in a

PostScript file is *very* thin. A two pixel line is *still*

very thin, depending upon the resolution of your PostScript
device. I find | have to bump thicknesses up by a factor

of about 5 or so to see noticeable differences on my printer.
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My preferred factor is three, but then again | am still in the
pre-bifocal stage. [ justjoking. :-]

Craig

Craig B. Markwardt, Ph.D. EMAIL: craigmnet@cow.physics.wisc.edu
Astrophysics, IDL, Finance, Derivatives | Remove "net" for better response
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